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QUESTION 1

Which of the following information must be configured for a DHCPv6 relay agent? 

A. DHCPv6 address pool 

B. DNS server address 

C. IPv6 address of the DHCPv6 server 

D. DHCPv6 DUID 

Correct Answer: C 

 

QUESTION 2

Which of the following statements regarding single area OSPF are correct? (Choose three) 

A. An IP address needs to be configured on a loopback interface of each router before configuring an OSPF area. 

B. The value of an area can be from 0.0.0.0 to 255.255.255.255. 

C. A single area can be configured using any supported area number. 

D. All of the links of the network need to be advertised in Area 0. 

Correct Answer: BCD 

 

QUESTION 3

Refer to the graphic. An administrator has configured OSPF on the two routers, following which he then implements the
command silent-interface s0/0/1 on RTA. What effect will this command have on the network? (Multiple Choice) 

A. The link information advertised by RTB will be maintained in the Link State Database of RTA. 

B. The OSPF neighbor relationship will fail between two routers. 

C. The configuration will not affect the OSPF neighbor relationship between the two routers. 

D. The link information advertised by RTB will no longer be maintained in the Link State Database of RTA. 
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Correct Answer: BD 

 

QUESTION 4

What is the UDP port number used by the DHCPv6 server? 

A. 546 

B. 547 

C. 548 

D. 549 

Correct Answer: B 

 

QUESTION 5

Referring to the following topology and configuration, routers R1 and R2 are connected through a Serial low-speed
cable, and the data link layer uses PPP. When R1 and R2 When the Holdtimes are inconsistent, ARP negotiation fails
and communication cannot be performed. 

A. Correct 

B. Error 

Correct Answer: B 
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